
ECHNICAL INFORMATION

For Models

Country

T 87942
November 2010

Addition of Front Spacer,
Change of Under Driver Guide, M5x35 Hex Socket Head Bolt, Flat Washer 5, Hex. Wrench 4

GN900

All countries

Subject
Description For further improvement in durability of Cylinder head;
1) Front spacer has been added.
2) Under driver guide, M5x35 Hex socket head bolt, Flat washer 5 and Hex. wrench 4 have been 
    changed.

Current part New part NoteQ'tyItem No. I/CQ'ty

Interchangeability(I/C)

100
346358-6

Front Spacer

           Front Spacer (346358-6)
is put on Front plate with two M5x16
hex socket head bolts. 

1

346006-7

Under Driver Guide
1020

346357-8

Under Driver Guide
1

265562-7

Hex Socket Head Bolt
M5x35 2009

266620-2

Hex Socket Head Bolt
M5x35 2

941101-4

Outer diameter 12mm
(941101-4)

Outer diameter 10mm
(941102-2)

Under driver guide

Flat Washer 5

Flat washer 5

M5x35 Hex socket head bolt with glue
                      (265562-7)
glue range: 5mm length on the bolt end
glue color: orange

2068, 096
941102-2

Flat Washer 5 The current remains 
available.

Hex. wrench 4
length (designated below)

70mm (783202-0)

2

783202-0

Hex. Wrench 4
1A02

783230-5

Hex. Wrench 4
1

Interchangeability mark;
 The arrow           means that the new part can be substituted for the current.

110mm (783230-5)

                      (266620-2)
glue range: 15mm length on the bolt end
glue color: blue

(346006-7) (346357-8)

Note: In case of Cylinder head failure, all the following parts have to be replaced.
          In case of Under driver guide failure, Under driver guide and two M5x35 Hex socket head bolts have to be replaced.  
From serial No. 15772

Implementation


